Dell Placement Paper 2009


1. Three bells rings at the intervals of 36 seconds, 40 seconds and 48 seconds respectively. They start ringing together at a particular time. When they will start ringing together again?
(1)After 6 minutes
(2) After 12 minutes
(3)After 18 minutes
(4) After 24 minutes

2. The sum of one-half, one-third and one-fourth of a number exceeds the number by 12. The number is
(1)144
(2) 154
(3) 90
(4) 174


3. A farmer divides his herd of x cows among his 4 sons so that one son gets one half of the herd, the second gets one-fourth, the third gets one-fifth and the fourth gets 7 cows. Then x is equal to
(1) 100
(2) 140
(3)180
(4) 160

4. If the list price of a book is reduced by Rs. 5, then a person can buy 5 more books for Rs. 300. The original cost of the book is
(1) Rs. 15
(2) Rs. 20
(3) Rs. 25
(4) Rs. 30

5. A man has only 20-paise and 25-paise coins in a bag. If he has 50 coins in all totaling to Rs.11.25, then the number of 20-paise coins is
(1) 28
(2) 27 1
(3)26
(4) 25

6. What is the output of the program
void main()
{
fork();
printf(" Hello World");
getch();
}
// A. Hello World
// B. Hello World Hello World
// c. Error Message
// D. None of these
Ans: B

7. What is the output of the program
void main()
{
int i,j,k;
i=2;
j=4;
k=i++>j&2;
printf("%d\n",k);
if(++k && ++i<--j|| i++)
{
j=++k;
}
printf(" %d %d %d",i,-j--,k);
getch();
}
// A. 4,-3,2
// B. 5,-3,2
// c. 4,-2,2
// D. 5,-2,2
Ans: D


Directions 8-9:- On the basis of given statements answer the following questions: All good athletes want win and all athletes who want to win, eat a well-balanced diet. Therefore, all athletes who do not eat a well-balanced diet are bad athletes.

8. If assumptions of the argument above are true, then which of the following statements must be true?
1) No athlete who does not eat a well-balanced diet is a good athlete.
2) No bad athlete wants to win.
3) Every athlete who eats a well-balanced diet is a good athlete.
4) All athletes who want to win are good athletes.

9. Which of the following if true, would refute the assumptions of argument above?
1) Bob, the accountant, eats a well-balanced diet, but he is not a good athlete.
2) Ann wants to win, but she is not a good athlete.
3) All the players on the Burros baseball team eat a well-balanced diet.
4) Cindy, the basketball star, does not eat a well-balanced diet, but she is a good athlete.

10. In class of 10 students, the teacher writes a number on the board. The first student tells that the number is divisible by 1, the second student tells that the number is divisible by 2, the third by 3, the forth by 4 and so on till 10. If the statement of one of the students in wrong then what is the least number possible.

11. The first and the last sentences of a set of sentences are given. The middle four sentences are in jumbled form we have to select the order in which the sentences are to be placed so that they convey a meaningful message.

12. A passage with two paragraphs is given. Then two questions are asked based on it. Could not remember it.

13. A stamp collector arranges his stamps during his free time. When he arranges his stamps in pairs, there is one stamp left. It is the same when he arranges the stamps in groups of 3, 4, 5 and 6. Now, how many stamps will he be left with when he arranges them in groups of 8.

Directions 14-15: In each of the number series given in these questions, the two terms have been put within brackets. Mark your answer as :
(1) If the first bracketed term is right and second is wrong.
(2) If both the bracketed terms are right.
(3) If the first bracketed term is wrong and the second is right.
(4) If both the bracketed terms are wrong.

14. 4, 6, 10, (12), 16, (14), 22

15. 3, 10, 29, (66), (127), 218

16. There can be no arguing against a ___________ of mass public _________ and distribution of medicines, as in the UK.
1) trend, awareness 2) notion, welfare
2) phenomenon, acceptance
3) system, procurement
4) backdrop, campaign

17. The government should ________ with the industry about what would be a _________ price for certain essential drugs.
1) negotiate, reasonable
2) deal, transparent
3) appeal, negotiable
4) raise, genuine
5) refrain, uniform

18. A certain number of men can finish a piece of work in 10 days. If however there were 10 men less it will take 10 days more for the work to be finished. How many men were there originally?
(A) 110 men
(B) 130 men
(C) 100 men
(D) none of these

19. In simple interest what sum amounts of Rs.1120/- in 4 years and Rs.1200/- in 5 years ?
(A) Rs. 500
(B) Rs. 600
(C) Rs. 800
(D) Rs. 900

20. Two trains move in the same direction at 50 kmph and 32 kmph respectively. A man in the slower train observes the 15 seconds elapse before the faster train completely passes by him.
What is the length of faster train ?
(A) 100m
(B) 75m
(C) 120m
(D) 50m

